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English 1%t Paper
Item Marks
1. Guess the meaning 0.5x10=5
2. Answer the questions Model : 21-30 2x5=10
3. Complete the text with right words | from selected book 0.5x10=5
4. Matching column 1x5=5
5. Re-arranging 0.5x10=5
Writing Part
6. Completing Story : (i) A Liar Shepherd 1x1=10
(i1) A friend in need is a friend indeed
7. Informal E-mail : (i) Spent the summer vacation 1x1=10
(i) The last annual sports day
Total = 50

English 2" Paper

Item Marks
1. Preposition 0.5x8=4
2. Completing text using . _
words from book MOdelzci‘_J?e)S“O”S : 0.5x10=5

3. Transformation

(voice (based on tense) from selected book

Assertive — interrogative 1x4=4
Degree
4. Punctuation 4
5. Formal E-mail
i) setting up a computer club 8

il) opening a common room
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